INSTS5AT4T 7 X252 —inGETO
P = 4.833333333

NITAX T HIS5R

a =11.73
S=0 DNF: 731+ L
BIIL=59 RIZE T2 MAB RS = 91 J—FERE#ZRET =0 DSQ: %#&
BRILLI=5 O RAR# =6 R=1 ABS:
by T DPAILKVE = 45.2
Mru&%#ﬁi:m 16 15 15 15 15 15
Eefgm = lcm 2 1 2 2 2 5
No. —HKJ-ID[(ZEF % T545—4%4 HC | R[1ERI[ R1 R2 | R3 | R4 | RS | R6 | /N5t |[RABA
2 4|1ZFEMEE  |AIRDESIGN [EAZY 3 (A 13 0 1| 256 19 37
1 24| KEFEA |SKYWALK |TEQUILA3 7 3 40 9 16 13 58
1 22|FAAE [SKYWALK [ARRIBA2 8 F 28 2 96 1 27 60
2 5| [ 75 4 OZONE ELEMENT 2 (A 1| 206 1 1 36 64
1 25(ILEBE |OZONE ELEMENT 7 10 29 1 12 13| 110 65
2 2|1##FIE [U-TURN  |EMOTION2 3 (A 11 4 3| 256 1 66
1 15|/ 38 [OZONE MOJO4 5 21 88 13 18 0 84
1 20| NEE 777 PAWN 7 F 13 86 1 1 13 95
1 18|E ML |SKYWALK [MESCAL2 7 27 14 58 71 110 107
1 17|%HEE=% |[ADVANCE |ALPHA4 7 40 85 38 21 12 115
35|#HFB5L [OZONE MOJO4 8 96 13 0 96 8 120
1 26 |1 FHHEARTE|UP KANTEGA XC | 9 F 32 54 11 58 12 167
2 (IR |SKYWALK |MESCAL3 3 (A 1| 256 2 46 46 177
¥BEEAE [U-TURN  [INFINITYS 11 F 70 17 17 26 70 200
1 28(#5AK;%E% |U-TURN |EVOLUTION 8 96 96 36 30 17 238
0 41{E)IIZ2%&E  |U-TURN  |EMOTION 8 36 96 96 96 96 420
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